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Question 1: Do stakeholders agree with the proposals for the award of licences 
in the 10 GHz, 28 GHz and 32 GHz bands in 2007?: Not in the 10Ghz band, There 
is no mention of the current use within the 10Ghz band of the Amateur Service, in 
your executive sumary! The part of the 10Ghz band you propose to use is the weak 
signal section from space satellites, their signals will be obliterated.  

Question 2: Do stakeholders agree with the proposal to include in the award of 
the 32 GHz band that portion of the band that has been open since 2003 for 
point-to-point applications?: I have no preferance.  

Question 3: Do stakeholders agree with the proposals to defer the release of 
the 40 GHz band and review the position in two years’ time?: Yes  

Question 4: Do stakeholders have any other comments on the contents of this 
document?: I urge you to consider at least minimal standards of technical 
compliance to limit interferance, and to rethink 55dBw as an upper limit, 36dBw is 
quite sufficent. If it doesn`t work at that level they are really not trying.  
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